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A3. BeiHecuTe MHOXHTENb U3 TIOA 3HaKa KopH: N 64a'b’c’ .
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A4. Pemute ypaBHeHHe: V2—X =X.
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B2. Pemmre ypaBHeHHe: 54/9_36 —54‘/9_x +7=249x

C1. Pemte ypaBHeHue: (x2 - 4)\/x2 —8x+7=0.

HopMzE! onieHoxk:
«3»- mooble 4A(n3 7 3agaguit), 4» -4A + 1B, «5»-5A +2Bwmm 3A + 1B + 1C.
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A3. BeiHecHTe MHOXHUTEIb U3 TI0]] 3HaKa KopHst:  V27a'b’c’ .

A4. Pemute ypaBHeHue: \x~ +4x =/14—x .
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B2. Pemnite ypaBHeHue: Vax -3 +-/5x+4=4.

C1. Pemte ypaBHeHwUE: (x2 —5X+6)\/x2 —7=0.

HopME! onieHoxk:
«3»- mooble 4A(n3 7 3agaguit), 4» -4A + 1B, «5»-5A +2Bwm 3A + 1B + 1C.









